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SA e
B &0 AW Asl
ol ZSHA OIF BAS M U JjEWA XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O s8Ag dANsA Sdat+= N3
400,000 1902/ *100% 76,000
= 15,200
[ 3,800
T 57,000
gl SSSE ANEAE 4,500 6,000 21,500
= 1,350
[Ea 3,150
301 LEtE N = 4,500 6,000 1,500
= 1,350
o 3,150
14 0Bt 2a3 4,500 6,000 1,500
O w2l S25= N
30,000& »1500t2| 4,500
< 1,350
Ea 3,180
LASEESHH JIZFMZZ X 212 30,000 30,000 0
101 @124H| 30,000 30,000
MU ORINZENSES 30,000 30,000
O YAISEESHH JIZtHZ22 A 12|
2,500,000« 1E =122 30,000
oA =S 8,000 1,300 6,700
args42e 8,000 1,300 6,700
JESIM=SE 2l 8,000 1,300 6,700
201 er23| 8,000 1,300 6,700
02 S5=2g4l 8,000 1,300 6,700
O ZEsIM=s3Sa d|etd2e| S
= 8,000,000& 8,000
ot 621,199 867,557 N\246,358
= 255,390
= 45,980
o 319,829
S D=2 621,199 867,557 A\246,358
= 255,390
= 45,980
Ea 319,829
SA Makd grat XIZ A (&) 13,500 13,500 0
S 2,700
o 10,800
307 @12t01 & 13,500 13,500 0
== 2,700
o 10,800
02 LB HAHE L 13,500 13,500 0
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
B2 e SIE YoIE IS +Ee 22 AL 50,000 50,000 0
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SN B4
Zu: suelD
chelr S D23 (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
01 A=l 20,000 0 20,000
O As=2d Xl e+
20,000,000 20,000
A 2HAL(F4H) 108,420 126,560 18,140
Jl=23HI(S4t) 108,420 126,560 18,140
Jl23Hl/ESMEH 53,520 59,960 26,440
201 Zet2 & 39,120 42,400 A3,280
01 AtR2telb] 29,520 32,800 23,280
O get2g| 9,000,000& 9,000
O =&t 7,200,000 7,200
OvIEa=E 12,600,000 12,600
O 2Y+Y(BUED 543
720,000 720
2 2229 9,600 9,600 0
O 2222 2 MAl 222
800,000& * 122 9,600
202 OH| 10,800 12,000 1,200
01 =L LI 10,800 12,000 1,200
O g2=& ohl 10,800,000 10,800
203 2R =L 3,600 5,560 1,960
04 RA2ILRFEH 3,600 4,800 A1,200
O RFAN2IHRFEH| 300,000& *122] 3,600
Jl23Hl/01=¢A 16,200 18,000 1,800
201 L2 10,800 12,000 A1,200
01 AtR2te|bl 10,800 12,000 1,200
O «et=EH| 3,600,000 *14! 3,600
O =gt 7,200,000 * 14! 7,200
202 044l 5,400 6,000 A600
01 =LHO LI 5,400 6,000 AB600
O g2=& Kbl 5,400,000 * 14! 5,400
J|23Hl/ A2 &8 21,600 24,000 A2,400
201 Zet2 & 10,800 12,000 1,200
01 AtR2telbl 10,800 12,000 1,200
O «et2g| 6,300,000 6,300
O =&t 4,500,000 4,500
202 04| 10,800 12,000 1,200
01 =L LI 10,800 12,000 1,200
O g2=& ohl 10,800,000 10,800
JI2ZHl/ s 17,100 24,600 AT7,500
201 Zet23 ] 9,000 15,600 26,600
01 AtR2telbl 9,000 12,000 A3,000
O get=EH| 4,500,000 4,500
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2 - IE
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O =&l 4,500,000 4,500
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01 =04l 8,100 9,000 A900
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